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I Circle the correct answer in each of the following:
» Inwhich of these structures, does the centr ; 'ha.vc formal charge = -1
H H bt i
o) Hyc-O-CHy  b) H,c—N-cn, ¥kt
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» The most stable carbocation %
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» Given the produds of«ozoooly}jg are H:C ,_3'-@—
The original dlkene is "zEEEﬂ‘ - “"“""‘ en cam

a. H:C=CH, o
d. CH3CH=CH-CH(!
>  Which compound among the following will givc@momchbro products upon reaction with
Cla/ UV light? ' j
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Q5 (14 pt) Complete each of the following reaction oy
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Bonus ques‘l'lon. (4 p'r)
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Complete the following reactions by writing the structure of the major product

Favmney
o

N
7S,

(535654 mmmh 4015 e st IR0 _ o] At lad] _ eyl el iyl 35 ¢

0Cr 0000

E




7. What is the number of monochlorinated product(s) of the following

reaction?
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8- The correct TUPAC name for the following compound:

CH3

a- 3-isopropyl-5-methyloctane
c- 4-isopropyl-6-methyloctane

e- non f the above OF
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Q2 (14 pt) Draw the structure of each of the following:

1- The most stable Newman projection of 1,1,2-trichloroethane.
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2. The mos} stable (chair) confogffation of  cis-1-isopropyl-2-

methylcyclohexane. 5
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the following compounds:

Q3 (8 pt) Give the ITUPAC Name of each of
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Q5 (10 pt) Draw the missing structure {A-G)

HI (excess) Hy NaNH, / NH;
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Sive the TUPAC Name of each of the following compounds:
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Q5 (10 pt) Draw the missing structure (A-G)
H, NaNH, / NH,
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